ECONOMY AND THE GOVERNMENT

Objectives

Having accomplished this topic, pupils will be able to:

· explain the nature of mixed economy

· explain the reasons for governments to interfere in the economy

· explain the goals the governmental interference is meant to lead to

· explain the economic and legal background of the governmental interference

Aim group
Students 15 – 18 years

Auxiliary material:

Work sheet Economy and the government
Realization of the topic

Introduction (10 to 15 minutes)

Brainstorming

· Pupils are asked to individually define of 5 basic objectives of the economic policy of the government.

· Work in pairs: two pupils agree on five important objectives.

· Work in groups of four: members agree on five objectives.

· Group representatives write the results of their teams on the blackboard.

· Plenary judgement: joint selection of five major objectives.

· Pupils are asked: Which way does the government take to arrive at such objectives?
· Answers in brief are put down on the blackboard. 

Work in groups (15 minutes)

· Groups of five are made.

· Pupils receive work sheets. Group work according to instructions in the work sheet.

· Groups choose their spokesmen.

Group presentations (10 to 15 minutes)

· Groups present their results and the solutions to problems 1 to 8.

· If time is available, situations 9 to 10 are worked on.

Conclusion (by time available)

Teacher makes a brief sum-up.

ECONOMY AND THE GOVERNMENT (working material)

Columns on the left describe eight possible situations of a national economy. Read them carefully. Write brief characteristics (one word or a short phrase) of each situation in the column in the middle. Write a brief characteristic of possible interference of the government in the column on the right.

Use rows 9 and 10 to describe two more realistic situations in the economy, name them and propose realistic solutions.

	SITUATION
	PROBLEM
	SOLUTION

(possible interference of the government)

	1) Parents say toys made by Alfa are breakable. Some kids were even injured by splinters.
	
	

	2) The premises of Beta, a rubber-processing plant, are obsolete, with insufficient ventilation. Some employers suffer from bad health due to toxic evaporation.
	
	

	3) The growth of the economy is slowing down. Production is being cut, sales go down, and unemployment is on the increase.
	
	

	4) The state budget is in the red. The government borrows money on high interests, burdening the population.
	
	

	5) Five major petrol distributors have agreed on one price for the consumers.
	
	

	6) Advertisement says that Gammadent, toothpaste, kills germs. In reality, the product contains breath refreshers but has no antibacterial effect.
	
	

	7) Delta, a cellulose processor, emits liquid waste into a nearby river. Filtering is insufficient, so fish die and the river is polluted.
	
	

	8) Petr, a coal miner, lost his job when a mine was closed down due to the overall reduction of the mining industry. With his family in financial difficulties he is looking for another job. 
	
	

	9)
	
	

	10)
	
	


